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. sin@ cosB ‘ L] a X
l. What is mﬂmﬂ-}sccﬂcqml to? @) 3 (©) 3
| x
(a) 1 b) 3 s B .
2 (c) 2 (d) 6
o = @ 2 13 Given that cos 20°—sin 20°=p, then what is the value of sin
3 - 40°?
2. Iftan0 + secD=4, then what is the value of sin0? 2 2
5 | =p? 1+
(@) &17 (b) 815 ::: 2 E :3: :_Pi‘
(© 1517 @) 2332 A v |
3. What is the angle subtended by | m pole at adistance 1 km 4. Giventhatp=tan a+ tan f}, and = cot a + cot jj; then what
on the ground in sexagesimal measure? 11
5 5 is [___]r.quu] to?
(a) Edcgruc (b) ;dugmc P9
(¢) 3.4 minute (d) 3.5minute (a) cot(a-p) (b) tan(a-[)

4. IfcotA cotB =2, then what is the value of [-::]‘ lﬂﬂ{(ﬁ'lﬁl . (d) cot mﬁﬁ]’ "
cos(A + B) sec (A =B)? 15. A is a certain positive acute angle which satisfies the
| 5 following equation :

(a) = by = Number of degrees in A + Number of radians in
e |3 % 3‘1 A=(180+ )3
c =

What is the angle A ?

) T (a) 20° by 40°
at is lan| — al 1a?
5. Whatis [Iz]equ.al to? © 6F d) 8° .
@ 2 ﬁ b 243 16, Ifsin’ 0+ cos’ 0=0, then what is the value of 0 ?

© 3-43 @ -2 @ — ®) 0
4

6. 1f0=18°, then what is the value of 4sin20 + 2sin0?

(a) =1 by | .
(€ 0 (d 2 © = @ =
I 4 3
7. If cosech - coth = ﬁ where 02 0, then what is the value 17.  What is the value of

S N
of cos 07 cosec(m+8)cot{(9n/2-8) cosec™(2n - 0)

cot(2m -B}sm::[rt —-B)seci(3n/2)+0)

3
(a 0 (b) i
3 (a) 0 (b) |
| 1
) — [d] F (c) -1 [d} oo
8 Whi n e al I“ 300020 + cos305in 27 18.  What is the value of
; (@) ‘"IIH anx:mum\.;hu;. u., e {.u:.‘ amne sin(A+ B)sin (A-B)+sin(B+C)sin(B-C)+sin(C+A)
- . ~_ AT
©) 4 @ 10 sin(C=A)? | _ o
9. What is sinAcosAtanA + cosAsinAcotA equal to? (a) 0 (b) sinA+sinB+sinC
{c) cosA+cosB+ecosC (d) |
(a) sinA (b) cosA 19, Given that tan o= m/(m+ 1), tan p= 1/2m+ 1), then what is
(c) tanA (d) 1 the valueof a+ f 7
10. If sin 34 = 1, then how many distinct values can sin A n n n
assume? (a) 0 () 4 © 6 @ 3
(a) 1 (b) 2 .
(€ 3 (d 4 . Ifx=rsin® cosd, y=rsinOsing and z=rcos O, then
_ | xX +y* + 2% is independent of which of the following?
11 Whatis — r + +-:-:m equal to? (a) ronly b)
l+cosx sin x © 0,6 ) o
@) 2tanx ib) 2 cosee x
(€) 2cosx (@) 2sinx 21. What is the value of tan 15°, tan195° ?
i (@ 7-443 b 7+443
12 Iftan’B= 1 h!nalhm what is the value of A+ 2B 7
l4+sin A © 7+23 d 7+6(3
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21, What is the minimum valuc of cos 0 | cos20?
2 b ?
(a) -2 (b) %
0 d 2
(c) d) 6

22 If3tan 0+4=0,where (%/2)<0 < n, then what is the value of
2¢010 -5 cos O +sin 6?

) 53 . 7
(a 10 b) 10
23 d 37
© T 9 T
23, Whatis the value of cosec ( 137/12)?
@ Jo+v2 b) —J6+v2
© Jo-v2 i) ~Jo-v2
24, What is the value of (sccf = cosd) (cosccd = sinb) (cot) + tan6)?
(a |1 by 2
(c) smn0 (d) cos 0
n
25 Ifa+B==and B1y=a;then which onc of the following
is correct?

(a) 2tanp+tany=tanac
(b) tanP+2eny=tana
(c) tanP+2Aany=tana
(d) 2(tanp+tany)=tana

: (cos10°+sin 20°)
26.  What is the value of ——————?

(cus20° =sin10°)

(a) ‘ﬁ (b) ‘73-'
© 3 d -3

27. If « and B are such that tan « = 2 tan , then what is
sin (a+ B)equal to?
(@ 1
(c) sin(a-P)

28.  What is the value of

¢os 306° +cos 234° + cos 1627 +cos 18 ?

(b) 2sin(«-p)
(d) 3sin(a-)

30, Which oneofthe following is positive in the third quadrant?
(a) sinb (b) cosO
(¢) tanO (d) secO

3. Whatis the value of sin (1920°)?

(@ 12

(b) 7—;

(d 13

rql&.

(c)

1
32. Letsin(A+B)=1andsin (A-B)= - where ABe [0.

What is the value of A?

!
B RE

|

5 X z
(a) 5 (b) 3
n x
(c) 3 (d) %
33. Whatistan(A -+2B). tan(2A + B) equal to?
fa) -1 (b)y 0
(c) 1 (d) 2
34. What is sin®A - sin®B equal to?
(a) 0 by 12
(¢) 1! (d) 2

35. What is the value of
sind20°.¢0s390° + cos(=300°).sin(=330°)?
(a 0 (b) 1
() 2 d -1
35. Consider the following statements:
. 1%inradian measureis less than 0.02 radians,
2 I radian in degree measure is greater than 45°,
Which of the above statements is/are correct?
(a) 1only (b) 2only
(¢c) Bothland2 (d) Neither I nor2
36. What is maximum value of sin®x?
(a) -1 (b) 0
(c) 1 (d) Infinity
37.1fABCDis a cyclic quadrilateral then what is
sinA +sinB - sinC - sinD equal to?
(ay 0 (b) 1
(c) 2 (d) 2(sinA+sinB)
38. What is the value of sin 15° ?

-1

\/§+l
(a) 7 (b)

W

(a |1 (b) -l
(c) 0 |d) 2 — — (c) ﬁ—l (d) @

29.  Let ABCDbe a square and let Pbe a point on AB such that J? +l Vi-1
AP:PB=1:2 If ZAPD= 0, then what is the value of 39.1f4 sin" 0= 1, where 0 <0 < 2z, how many values does 0
cos 97 take?

(@ | (b) 2
| I (c) 4 (d) None of the above
b

@ o ) 5 40. What is the value of sin 18° cos 36° equal to? |

5 " (a) 4 (b) 2
) > | d) 14
(c) 10 (d) 7: (c) (d)
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41.

42,

If sin A+ sin B +sin C =3 then what is cos A + cos B + cos
C equal to0?

(a) -1 (b) 0

(c) 1 (d 3

Iftan A —tan B =xand cot B-cot A=y, then what is cot
(4= B) equal to?

11 11
® 37 ® 37y
1 " 1 11
© 7 ¥ d ~3 y
43. If tan A = 1/2 and tan B = 1/3, then what is the value of
44+4B?
(a) w4 (b) n2
() = (d) 2n
44. What is the maximum value of 3 cos x +4sinx+5?
(@) 5 (b) 7
(c) 10 : (d) 12 - =
45. If sinf = cos>0, then what is cos~0(1 + cos>0) equal to?
(@) 1 (b) 0
(c) cos> 0 (d) 2sin0
46. How many values of ¢ between 0° and 360° satisfy
tan @ = k # 0, where £ is a given number?
(@ 1 (b) 2
) 4 (d) Many
47.  Ifsinx +siny=a,cosx+cos y = b, then what is the value
of cos (x=y)?
(@) a*-1 (b) b*-1
Ky 52 75 Lps . s
(©) S(a- +h'=2)  (d) 5(«‘ +b*)
4. Whatis \/2 +y2 +2 +2c0s44 equal to?
(a) cos A (b) cos(24)
(¢) 2cos(A2) (d) J2cosA
49. The equation tan’ ¢+ tan® ¢ = tan' ¢-sec’ ¢ is
(a) identity for only one value of ¢
(b) not an identity
(c) identity forall values of ¢
(d) None of the above
5. If secA + tand = p, then what is the value of sinA?
p -1 p+1
(a) p: el (b) p: -
) | (d) None of these
51.  What is the value of tan (=1575°)?
(a) 1 (b) 12
) 0 (d) -l
52 For which acute angle 0, cosec’0 = 33 cot0-5 ?

S3. If tan’® 0 =2tan’ ¢+1, then which one of the following is
correct? S
(a) cos(20) =cos(2¢)-1
(b) cos(20) =cos(2¢)+1
(c) ws(20)=[cos(2¢)-l]/2
(d) cos(20) =[cos(29)+1]/2

5. Whatis the value of | =sin10°sin50°sin70°?
(a) 18 (b) 38
(c) 58 d) 78

55.  The sines of two angles of a triangle are equal to 5/13 and
99/101. What isthe cosine of the third angle?
(a) 2551313 (b) 2651313
(c) 2751313 (d) 7701313

56.  After subtending an angle of 1000° from its inital position,
the revolving line will be situated in which one of the
following quadrants?
(@) Firstquadrant
(¢) Third quadrant

(b) Second quadrant
(d) Fourth quadrant

57.  One radian is approximately equal to which one of the

following?
(a) 9P (b) 18(°
(c) 57 (d) 47

58 Ifcot(x +y)= l/\/g ,collx=y) = ﬁ then what are the
smallest positive values of x and y respectively?
(a) 45°,30° (b) 30°,45°
(c) 15°6(0° d) 45°15°

59. x=sinOcosOand y=sin0+cos0are satisfied by which
one of the following equations? T
(@) y*-2x=1 (b) y2+2x=1
() »=2=-1 d) y+2==1

60. If sin®x = cos*x = p, then which one of the following is

correct?
(@) p=1 (b) p=0
© |p|>1 @ |p|s1

61. Ifcos O <sin Oand 0 lies in the first quadrant, then which
one of the following is correct? '
(a)0<0<w4 (b)n4<0<n2
(€)0<0<mw3 (d)w3<0<n2

62 Ifsin®x + sin®y = 1, then what is the value of cot(x +y)?

(a) 1 b 3

) 0 @ 113
63.  What is the value of cos10° + cos110° + cos130°?

(a) =l () 0
(¢) 1 (d) 2
64.  Whatis thelength of arc of acircle of radius 5 cm subtending
acentral angle measuring 15°?
(a) Sw/12cm (b) 7w/12em

@ = ® X () w12m (d) wSem
12 3 65.  What is the maximum value of sin0 cos0?
a X R (a) 1 b) 12
© @ 3
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© 142 @ 372 C"dei: _
66. If sinx + cosccy = 2, then what is the value of )
sinde 4 cosecty? (a) 4 1 2
sin“x + cosecx? ®) 4 > |
(a) 2 (b) 4 © 3 5 .
(€ 8 @ 16 @ 2 i g
67. Whatis the value oftan 15° + cot 15°? o
@ f3 b) 243 1 I
() 4 d 2 . HfanA= 3 andtanB= 3 then what is the value of (A+B)?
68. IfA+ B+ C=n/2, then whatis the value of T
tan A tan B +tan Btan C +tan Ctan A? (@ 0 (b) 4
@ 0 ®) 1 =
(c) -l (d) tanAtan Btan C © 3 (d) =
69. If (sinx + cosec x)* + (cos x + sec x)* = k + tan’x + cotzy, -
then what is the value of k? . Ifcos x#~—1,then what is I—+—;—- equal to?
(a) 8 (b) 7 COs X
(c) 4 d 3 (a) —Col% (b) col%
. Ifp=sin (989°) cos (991°), then which one of the following 5 %
is correct? (c) tan ;’- (d) —tan ;
(a) pis finite and positive & =
vl : : l+tanl5°,
(b) pisfinite and negative 8. Whatis the value of 7
i l-tanl5°
() p=0
is sfine 1
(d) pis undefined ’ @ 1 (b) 7__2_
I1-3tan” A
7. If A= ﬁ then what is the value of *? 1
12 3tan A —tan” A © 7 @ 3
8l.  Whatis the value of /3 cosec 20° —sec 20° ?
(@) =l (b) 1 (@) 14 (b) 4
(€) 173 (d 3 (c) 2 (d) 1
72.  Consider the following statements 1P
L If0=1200° then (secO + tan0)~! is positive. &.  Whatis tan [7;) equal 10?
. If0=1200° then (cosecO —cot0) is negative. =
: ! b 7
Which of the statements given above is/are correct? @ V6+3-2+2 ® J6+B+V2+2
(a) lonly (b) 1l only © V6-3+v2-2 (@ J6+B3+2-2
(¢) Bothlandll (d) NeitherInorll . %. What is the value of co;s‘l 5 +cos;¥5 9
73. Ifcot 0=2cos 0, where (n/2) < 0 < m, then whatis the value cos” 15% +cos” 45°
of 0 ? 1 1
(@) Smb (b) 23 @ 73 (®) 3
(¢) 3nM (d) 11x12 )
74.  Ifcot ©=5/12 and 0 lies in the third quadrant, then what is © 3 (d) None of these
(2 sin 0 + 3 cos 0) equal to? 84.  The angle A lies in the third quadrant and it satisfies the
(@ -4 equation 4 (sin’x + cosx) = 1.What is the measure of the
(b) —p? for some odd prime p angle A?
( /p)where pis an odd pritie and ¢ itive integer (@) 225° (b) 240°
L.) (—g/p)whe ep 1s an odd prnime and g a positive intege (¢) 210° (d) None of these
with (¢/p) not an integer :
: sin 0+ 1
(d) -p for some odd prime p 85. Whatis — equal to ?
75.  What is the value of o
cos (1/9) + cos (1W/3) + cos (51/9) + cos (7/9)? sin®+cos0—1 sin O+cos0+1
(a) 1 (b) -1 (@) sin O+cos0+1 (b) sinO+cos0—1
(©) -172 d 12 sin 0—cos 01 sin 0—cos 0 +1
76.  What is the value of /3 cosec 20° — sec 20° ? © Sn0+cos0+1 (@ sin 0 +cos 0 -1
(@ 4 (b) 3 86. Onc ofthe angles of a triangle is 1/2 radian and the other is
99°. What is the third angle in radian measure?
() 2 d 1
77.  Match List_I with List_II and select the correct answer using
the code given below the lists @) Ix-10 90=-100
n n
List-1 List-11 90 % —10
A.| tan 15° 1.l =2-3 © = (d) None of these
B. | tan 75° 2.| 2+43
sec 18°  cosec 18°
C. | tan 105° 3.] 2+43 at e - a1 1o
1 ~/_ 87. Whatis ( scclil® = comsse 1440] equal to?
4| 2-B
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9. I (1 + tan0) (1 + tand) = 2, then what 1s (0 + ¢) equal 107
(a) seclB® (b) cosec 18° (@) 309 (b) 45°
(¢) =-secl8® (d) —cosec 18° (¢) &r (d)y «wr
i . - 100, Ifan angle a isdivided into two parts 4 and Bsuch that A -
88, Ifa and P are positive angles such that a + § = 2’ then B=xandtan A:tan 8= 2: |, then what is sin x cqual to?
bon L y Py (@a) 3sina (b) (2sina)/3
\\hd!(l)b (1 +ana)(l+ I.’i;: B)lcqual 10? © (sina)/3 @ 2sina
™ ®) 101, What is the valuc of
© < @ 3 tan 9° - tan 27° - tan 63° + tan §1°7
89.  Whatis the valuc of (sin 50° = sin 70° + sin 10°) ? (@ 1 (b) 2
© 3 (d) 4
1 2% "4z
(@) 1 (b) 7: 102, Ifx=ycos| 3" | ==cos | 73 |, then what is
xy + yz +zx equal to?
(©) [1 d o @ =1 (b)y 0
2 ) | W 2
D, IfcosA+cos B=mandsin A+sin B=n, wherem, n=0,
then what is sin (A + B) equal to ? - S In
% 103.1f K = sin(— )sin( —}sin( - ] then what is the value
mn amn I8 I8 I8
@ me +nt (b) m? +n? of K?
?+n’ mn @ - (b)
. m -n ) - -
©) 2mn (@ m+n 2 4
= 1 |
9. Ify=sec? 0+ cos 0, where 0 < 0 < 5 + then which one of © 8 @ 16
the following is correct? P _\‘in a+ Sinﬁ -
@ y=0 ®) 0<y<2 104. The expression m is equal to
) y=z2 (d) None of these
92.  Iftan A=3/4 and tan B =~ 12/5, then how many values can a+f [a+p
cot (4 = B) have depending on the actual values of A and B? (a) fan -, (b) cot{—
(@ 1 b 2 - -
) 3 W 4 . [a+p _[a+p
93, Whatis the value of sin 15° sin 75°? © "5 @) =S
@ 14 ®) 13 105. £ 5in0 = 3 sin (0 + 2a), then the value of tan (0 + a) +
© 116 @ 1 2tan ais equal to
L sin 0 + cos0 — tan O 3x (a) =l (b) 0
9. Whatisthe value of oc 0+ cosce —cot 6° when 0= 5% ? (© |. @ 2
106. Whatis the value oftan 18°7
(@ O b 1
) =1 (d) None of these \/g -1 \/g-l
(a) (b)
1 ,’ >
95. Whatis the value of sin 292 =°? 10+2V5 1045
\ 5T , i V104245 i 10445
a) —=2+43 == 2= ) —pF—— —
(@) 3 + (b) 3 3 Jg -1 Jg -1
107. . =g - - ) -
" 1 T h 5 = 1W Lf’lan(a B)=2andtan (a~ )= |, then tan (2a)is equal
<) 7% s ) il
@@ =3 (b) =2
9. Which one of the following is correct? 1
(@) sinl®>ginl (b) sinl®<sinl (c) X (d) 1
o 3
(¢) sinl®=sinl (d) sin1®= = sin| 4
: . o 150 108. If secO0~-cosec 0=, then what is (sin 0 = cos 0) equal
97.  Ifin general, the value of sin A is known, but the valuc of A 3
to?
A A
is not known, then how many values of tan (’;] can be I
2 P 1
calculated? (a) =2only (b) > only
(@ 1 by 2 | I
) 3 (d 4 3 " ! 1.e ! "
98 Ifx = sin0 + cosO and y = sinO.cos0, then what is the value () Both-2and 2 (d) Neither 5 R
of ¥ —dxdy-22 +4)2 + dy+1?
@ 0 (b) 1
© 2 (d) Nonc of these
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109. Thevalueofian 9" =1tan 27° - tan 63° + tan 81° is cqual 1o 117. Ifsin A= ;; .where 450° < A < 540°, then :;m% is equal to
(@) -l (h) 0
(c) 1 ) 4 |
i
The value of /3 cosec 20° - sec 20°is equal to a) o (b) Vio
(a) 4 (h) 2
© 1 (d) -4 NG . u
110. Angle « is divided into two parts A and B such that (<) :;H_' (d) None of the above
A=B=xandtan A :tan B = p: q. The value of sin x is equal
N ; TR B "
- (p+q)sina ” psina 118.. Whatis an10° cos 10° equal to]
i T T
P=q P+q @) 0 (b) |
psina (p-q)sina () 2 (d) 4
(c) (d
+ 3
i i 119, Iftan A=x+ | and tan B=x= |, then x* tan (A = B) has the
111.. If x =sin70"5in50" and y= cost0’.cos80", then what is xy value:
equal to ? (a) 1 ib) x
a) 1116 (b) 18 (c) 0 (d) 2 1
© 14 W 12 120. What is the value of (sin*0 - cos*0 + 1) cosec’0?
112, Ifsin B, + sin 0, + 5in 0, + sin 0,= 4, then what is the value (@ -2 (b) 0
of cos 0, + cos 0, + cos 0, + cos 0, = ? (c) 1 (d 2
fa) O ib) 1
113 fc) 2 id) 4 DAY -1 Trigonomentry Answer Key
*|. What is the value of 1 2 3 4 5 6 7 ! g 10

f Y n\ sz Tn‘_r
| 1 #cos— || 14 cos— || 14¢cos— || |+ cos— |7
\ 3) 8 )\ 3 )\ g )

A|lC|A[A|A|B|C|J]A|D]B
1111213141516 17 18|19 | 20

| 1, | B|A|A|D|C|A|B|A|B]|C
® 3 ® 370 21| 222324 25] 26|27 28] 29 30
P | A/B|lc|D|B|cCc|D|C|A]|C
© 27250 @ 3 31|32[33|34|35[36(37|38(39|40
114. [fxoos 0+ ysin 0=2, then what isthe value of (x sin 0=y cos 0)*? c(B|l|C|[B|C|C|J]A|A|C|D
o | |41]42]43]44]45]46]|47[48]49] 50
1i.'l] .\'*}"-f' “.'ﬂ !l:'-}'-.ﬂ' E c C c ﬂ E c C E ﬂ‘
(© xI-y?+s? @ xP+yies 51|52[53|54|55|56(|57|58|59]60
ge o el _ | Alc|c|D|A|D|C|D|A|D
* Ifsin lbf=T,llu:nuh.'u|.~.lh|.*1..'|.lm.'nf.~.|nﬁl°'." 611 62 1 63| 64| 65|66 67| 68|69 70
B|C|B|A|B|A|C|B|B|B
: —F = —= 71| 72|73 74| 75|76 77| 78|79 80
@) ﬁf—‘h (b) m;‘f”‘{" B|D|A|D|D|A|B|B|C|D
81|82|83|84|85|86(87|88(89]|90
o BB BB BlC|D|[C|D|A|A|C|D]|B
? 1 91| 92|93 94|95] 9697|9899 100
116'-. What 1s l;::t:n:—_i::;nmuul ta? c D A B c B B A B c
e 101|102(103|104|105|106(107| 108[{109|110
@ 3 ) -3 D|B|C|A|B|A|A|B|D]|A
© 3-1 @ 1-3 111]112(113|114|115|116(117|118[119(120

D|{A|D|A|A|B|D|D|D|D
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